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INSTRUCTIONS

Answer all questions.
All questions carry equal marks.
Only onc answer is {0 be given for each queslion.
If more than one answers are marked, it would
be trcated as wrong answer.
Lach question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
the cormect answer.
There will be no negative marking for wrong
answer,
The candidatc should ensurc that Roll Number,
Subject Code and Series Code on the Question
Paper Booklet and Answer Sheet must be same
after epening the envelopes. In case they are
differcnt, a candidaic must obtain another
Queslion Pazper of the same serics. Candidate
himself shall be responsible for ensuring this.
Mobile Phone or any other electronic gadget in
the examination hall is strictly prohibited, A
candidate found with any of such objectionable
material with him/her will be strictly dealt as per
rules.
The candidate will be allowed 10 carry {he carbon
print-out of OMR Responsc Sheet with them on
conclusion of the examination.
If there is any sort of ambiguity/mistake either
of printing or factual nature then out of Hindi
and English Version of the question, the English
Version will be treated as standard.
Warning : If a candidate is found copying or if
any unauthorised material is found in
his/her possession, F.LR. would be
lodged against him/her in the Police
Station and he/she would lable to be
prosecuted under Section 3 of the
R.P.E. (Prevention of Unfairmeans)
Act, 1992, Comtnission may also
debar him/her permanently from all
future cxaminations of the
Commission.
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A 4 bit synchronous coumnier uses flip flop with propagation delay time
of 25 nis each. The maximum possible time required for change of state
will be :

(1) 25mns (2) 350ns

(3) 75ns (4) 100ns
@4bitgmmmmﬂipﬂopwﬁém%ﬁmﬂﬂw%w25ns
¥\ ety EdN @l ST W9 T &,

(1) -25ns (2) 50ns

(3) 75ns (4) 100ns

For what value of m and n will K, be Hamiltonian ?
(1) m<n (2) m>n

(3) m=n (4) m=n-+1

m &% n ¥ feE wE % R K, TR E 7

(1) m<n {2) m>n

(3) m=n 4) m=n-+l

Let G be connected graph with edges e= 10 and vertices v=>5. Then the
number of regions in a planar representation of G is,

1 6 2 7

@) 8 4 9

T G T RS T § Ed o= 10 Tl G3FE v=>5 T T W WE
¥ e TSR o o O @ gen g,

1) 6 Q) 7

Gy 8 @ 9

A circuit is an interconnection of flip-flop and gates.

(1) Combinational (2) Digital

(3) Sequential (4) None of these
aﬁzﬁmw‘haﬂ'{ﬁzﬂwﬁsﬁ@raﬂm%!

(1) HIREASTA (2) Bfwew

() wWARww (4) TRE ¥ ¥ BE T

Five marbles balls are drawn at random from a bag of seven green marble
balls and four red marbles balls. Find the probability that three are green and
two are red : '

(1) 1011 ) 711

(3) 6/11 4y 5/11
ﬁﬁa%@ﬁw%ﬁﬂﬁmﬁmﬁﬁmﬁqﬁaﬁaaw
ﬂﬂmnﬁﬁﬁ?%lﬁﬁs’&amawméﬁﬁ?ﬁﬁﬁﬁﬁﬁuﬁaﬁﬁ

BIECTEE
(1) 10/11 (2) 711
(3) o/11 (4) 5/11

204/ COMPSCLA] 2 W 1Coned..
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The simplified form of the expression [x xy) '+ y{(xy ] using Boolean

Algebra is, _
(1) x'y+xy' - @) x+y
3) x'yv+x (4) x'y4+xy

afvem drw T @ T A o [x(xy)+y ()] @ g

1) x'y+xy' (2) x+y

3) x'yv+x 4 x'yv+xy .

7 Suppose that we have two implementations of the same instruction set
architecture. Machine A has a clock cycle time of 50ns and CPI of 4.0 for
some program and machine B has a clock cycle of 65ns and CPI of 2.5 for
the same program. Which statement is correct ?

(1) Machine A is faster than B
(2) Machine B is faster than A
(3) Machines A and B have same performance

(4) None of above

AT W T U DI W HMbeda & & S9N &1 7fF ‘or @
Fdle AEHA G99 50ns ST CPI 4.0 Tl wium & e & qun 99t 9 o
il GEed 65ns oMY CPI 2.5 ¥ SHl whe & fae, ot g & € &9 =
g e ?

1) W aaTs AT T
2 A T aw t wfE er @
@) " o 9T TuA ¥

(4) SR q wg T

8  Which of the following is an example of a counter with truncated

modulus ?
(1) Modulus 8 {2) Modulus 14
(3) Modulus 16 (4) Modulus 32
e § F S B (truncated) Agwd %1 A/ & 7
(1) Modulus 8 (2) Modulus 14
(3) Modulus 16 (4) Modulus 32
204/ COMPSCL A 3 R (Coned...
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Convert the following equation into sum of product (sop) form

R=L+M'(N'M+M'L)

(1) (M+L)(M“+L) (2)  M'L'+ML
(3) L+M'L (4) ML+M'L
Pt g3 @ @ oife Wede F S

R=L+M'(N'M+M'L)

(1) (M+L)(M'+L) 2) M'L'+ML

3) L+M'L | 4 ML+M'L

10 Which of the following operation cannot be performed on pointer in C?
(1) Addition of two pointers
(2) Subtraction of a number from a pointer
(3) Subtraction of one pointer from another
(4) Addition of a number to a pointer
@Al dfera (operation) C % dged W T B o wwd 7
(1) & pointers & WIS |
(2) TH GEAT B pointer ¥ T
(3) TH pointer HI pointer ¥ T
(4) U pointer § UH & B S

11 Which of the following C++ statements is correct ?
(1) int*¥p=newint; (2) intnew =*p;
(3) int* new =*p; (4) int* p=intnew,
fpst § Q4 B CH HUT W R 7
(1)  int¥p=newint (2) Intnew =x*p;
(3) int* new =#*p; (4) int* p=intnew,

204/ COMPSCLA] 4 (RN (Contd...
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The output of the following program :

void main ( )

{
static int x =5; |
printf ("x=%d, \t", x —-);
if(x) main( ); }
(1) 5,43, 2,1 2y 4,32, 1,0
3 5 (4) None of the above

FrfRaa @te #1 anwege @@ @ ?

void main ( )

{
static .int x=35;
printf ("x=%d, \t", x —-);
if(x) main( ); }
1y 543,21 (2) 4,3,2,1,0
@) 5 | (4 SwE H ¥ e T8

13 In Edge Triggered flip-flop -

(1} The flip flop inttiates Q output changes on the falling or rising edge f,
of the clock input :

(2) The flip flop. initiates Q ocutput changes on the falling or rising edge
of the clock output

(3) The flip flop initiates Q output changes on the falling or rising edge
of the falling edge

(4) The flip ﬂop initiates Q output changes on the falling or rising edge
of the rising edge

s o’ R o ¢
(1) FFF FY & T 91 W e ¥ RRT-wv 8/ g6 Q aeeye

&I

(2) D AGTYE B TF T A g ¥ RRAT-wAT BT g7 Q &Y
FEA

() TF AN B T T A H A RrE-Iee I 9w Q SRy
FE

@ ww%@r@aﬁmaﬁ%ﬁ&ﬁqwﬁqmgaqw
T
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A template can be used to create a family of :

(1) classes (2) functions
(3) classes and functions (4) none of these
o ez wW N o ¥ S ofeR & § 7
(1) e & (2) Theard W

(3) FEE AT FREE B ) Suded § ¥ B TS

15 The output of the following program will be,
void main ()

{
struct emp
{
char n [20];
int age;
35

struct emp €l = {" dravid", 23};
struct emp €2 = el;

if (et = = €2)

printf ("The structures are. equal");
else

printf ("NO"Y,

getch ( );

3 .

(1) The structures are equal 2y NO

(3) Error (4) None of these
R T 6l SHSYE B2

void main ( )

{

struct emp

char n [20];
int age;
%

struct emp el = " dravid", 23};
struct emp €2 = el;
if (el = = €2)
printf ("The structure are equal");
else
printf ("NO");
getch ( );
3
(1) The structures are equal )

NO
3y W (4) sy o A B T

204/ COMPSCLA] | ¢ (A, (Contd-~
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16  What is not true about construction ?
(1) The name of constructor must be the same as the name of the class.
(2)  Constructors have return type,
(3) Constructors can have default parameters.
(4) A class can not have more than one constructor; however the constructor
can be over loaded.
BHRZHEL b AL W T G AK B 7
(1) & H T4 T T BT H GH G iy
(2 wFT T T By whr &
() TRHRY F Rwwe Tufer & ga3 3
() T W A O ¥ R Fga T @ T AR HaT A e
WET 6 w1 el ¥
17 If every non-key attribute is functionally dependent on the primary key then
the relation will be in :
(1) First normal form (2) Second normal form
(3) Third normal form (4) Fourth normal form
A TAF T - B U, meafe Foil W wEEE i ¥ o et
(w=ier) fomest @ ?
(1) wem i wrd (2) fadm 7vde wid
(@) Fha anfw (4) =gd Tl wed
18 Which one of the following is a correct notation in ER diagram ?
(1) Entities are ovals - (2) Relationships are rectangles
(3) Attributes are diamonds (4) Weak entities are double rectangles
ER SEUM % 9@l Ry @ A ¥ ?
(1) wfEr = aflga @ 2 TRl w5 s g
() uftsz # saiE Enr (4) HHIR TIRD & S99 g &
19 Which is not a part of Request To Send (RTS) header format :
(1) Frame control _ (2) Transmitter address
3) CRC (4) Duration
e ¥ & B o1 e 3 ¥ (RTS) ¥ov wrive a0 w7t & 2
(1) %4 &g 2 gt wig
(3) 4 sm & (CRC) @) =R

204/ COMPSCLA| 7 (MAAANE tContd...
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20 Which one of the following is correct 2 In using a relational database
consisting of a number of tables, a user only needs to know :

(1) The number of rows in each relation
(2) The number of columns in each relation
(3) The access paths to the data in each relation

(4) The name of the tables and the names of their relevant columns

RN Y ET A ?Qﬁﬁ?{?ﬁﬁ%ﬂ%ﬁmﬁaﬁ‘wmm@ﬁ)
%a@(uﬁmﬁfaﬁ%ﬁmwaﬁ%ﬂﬁa@rwaﬂaﬁq

) = Fiigw ¥ dfRrl ® ¥

2) aﬂﬁfaﬁi’fwaﬁ’r@w
(3).3Tﬁﬁﬁﬂﬁ€mﬂzﬁq§?ﬁ$lmmﬂ

@ s () % A T TR @ &

21 A strictly binary tree with n leaves always contains ___ nodes.
(1) nxn 2) 2n
3) 2n-1 4 nt-1
ww R Tl & R n Aew ¥ Ie ___ nodes ¥l ¥
(1) nxn _ 2) 2n
(3) 2n-1 @) n?-1

32  Let R be relation with attributes (A,B,C,D,EF) and let the following
functional dependencies hold,

A—->B A—>CCD-—E CD—>F B-»F

Then which one of the following dependencies does not hold :
(1) A-E | (2) CD—EF

(3) AD-—F (49) B—-CD
uﬁRﬁﬁaﬁéﬁq&mg(A,B,C,D,E,F)%amﬁwtsaama%a%@
A—>B A—>C CD—E CD—=>F B—oF

ax P A A AT G e R g WY 7

(1) A—E (2) CD—FEF

(3) AD->F 4 B-oCD
204 / COMPSCI_A]
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24

25

26

Methods of graph traversal are/ is,

(1) Depth first search (2) Breadth first search
(3) Both (1) and (2) (4) None of these

T AT &Y fafyr & -

(1) T % wd ) é:{awéaﬁ

3) ST 4 sudas F ¥ @i T

What is the postfix form of the following prefix *+ AB--CD ?
(1) AB+CD-= @) ABC+#-

(3) AB+*CD- 4 *AB+CD-

WRRR (prefix) *I+AB—CD &1 Tefee (postfix) & ?

(1) AB+CD-= (2) ABC+%—

() AB+xCD- - (4) *AB+CD—

Which one of the fdllowing is correct ?

(1). Sequential files provide fast access to the next record
(2) Sequential files provide fast access for random access
(3) Sequential files provide fast updates of files

(4) Sequential files are difficult to implement

PRI AN eI Eaa ¥ ?
(1) T ww ST T ¥ o e @ du oRa

(2) Tordm wEw Sua #YE ¥ ew veRw ¥ fm dw e
(@) R wEE Suwer O ¥ O B ey
(4) Rerow wEe W son gafea ¥

Which one of the following is not an index technique ?
(1) Primary index (2) Secondary index
(3) Multilevel index (4) Sequential index
[ A TG i (e T h B e

1) oA = 2) A =
(3) ARET TRaw (4) TaRmE 5=

204/ COMPSCLA] 9 I (Contd...
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27

23

29

30

31

What is the maximum number of nodes in B-tree (of order 5) of

height 2 ?

(1) 128 (2) 255

(3) 120 (4) 127

% B (ST 5) Rrae w2 ¥ A afteaw e # dem = Em 7
() 128 (2) 255

(3) 129 @) 127

Error checking in OSSO model is done at,

(1) Data link layer (2) Network layer
(3) Session layer (4) Physical layer
OSI-ISO #feq § e wia wel a wwdl &7

() == foe ax (2) Teah WX
(3) dIF W (@) Pefsma w1

Certain processor supports only the immediate and the direct addressing
modes. Which of the following feature cannot be implemented on the
processor ?

(1) Array (2) Ponter

'(3) Loop (4) Function

T W e g ol SR GERiT e @ e @ ¥ P A
¥ B W IET 59 NAE W GG TE Rear S g ?

(1) Array (2) Pointer

(3) Loop : (4) Function

Which of the following cables support the highest bandwidth and faster
transmission rate ? B '

(1) Twisted pair cable (2) Coaxial cable

(3) UTP cable (4) Fibre optic cable

Rt A & N Faw oftead ¥ dRE @ ol e < gkl
Ha ¥ ? | |

(1) Fafes X waw (2) @ B

@3) gt Fad (4) TEAT D HIW

Under cryptography, the encoding of the message at the transmitter is
known as :

(1) Deciphering

(2) Enciphering

(3) Either enciphering or deciphering

(4) None of the above

frermd ¥, IR Wy F gafe o geREd & FEd ¥,

(1) SRefeT (2) URBET

@) Uafwfor @ SRl @) SudEd ¥ ¥ o T8

204/ COMPSCLAl 10 ISR ECovtd...
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32

33

34
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The language recognized by the given NDFA is -

S —-,@f_)@i,@i,

(D) (a/b) bba 2) (a/b) abb

(3) (ab) abb 4) a*b*abbd
feu g NDFA v eiftema (Rerndse) o &

a :
S __)@-a_*@_b*@g
b
(1) (a/b) bba 2) (a/b) abb

(3) (ab) abb 4) a*b*abb

A system program that sets up an executable program in main memory ready
for execution is,

(1) Assembler (2) Linker

(3) Loader (4) Text editor
@%@Wﬁ@@%ﬁ@aﬁmaﬁwﬂ%ﬁ@%ﬁﬂm%m
CRIEE TGS

1) =" (2) fHET

(3) s | | (4) e gReX

An efficient method of finding shortest path from a given source to destination
in a given directed graph where weight of every edge is same, is

(1) Breadth First Traversal

(2) Dijkstra's shortest path Algorithm

(3) Neither Breadth First traversal nor Dijkstra's algonthm
(4) Depth first search

feg g srREs v e ol v @ 3 T, ¥ wi @ R ah
% B AT W TG B BN AHEA AQHT T,

(1) =9 ®& gEw™

) Rewwren e w Tt

() T A AU B AT 1 & Rweren wwilem w1 v
(4) o B gg

(WM (Conta...
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The following program results in the creation of :
main ()
{
if (fork () > 0)
sleep (100),
}
(1) An orphan process
(2) Zombie process
(3) A process that executes forever
(4) None of the above
Py W & S &

main { ).

i{f (fork () > 0)
sleep (100);
¥
(1) Wb SHT Had
Q) TH A TEE
@) TF TR S S qh T
@) v ¥ ¥ g

The correct matching for the following pair is
(A) Disk scheduling (i) Round Robin
(B) Batch processing (i) Scan
(C) Time sharing (iii) LIFO
(D) Interrupt processing (iv) FIFO
@ ® © O
(1 @iy Gv) @G O
@) v (i) @ O
@¢) @@ v @ (3i)

@ @) @ G @D

freg o B % |
(A) T RregRin () = A
@) Fa WAk (i) b
(C) <A (iii)y LIFO
(D) Fet< WRR (iv) FIFO
@) ® © O -
(I, @) Gv) @ Q)
@) Gv) i) G O
@) () v @ G)
@ G) @ Gv Qi)

WSO KConed.
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38

39

40

The address resolution Protocol (ARP) is used to :

(1) Find the IP address corresponding to MAC address
(2) Find the port address corresponding to an IP address
(3) Find the MAC address corresponding to an IP address
(4) Find the IP address from the DNS

W Ny W ® ST g ¥

(1) IP 3§ St & MAC G4 & & %Y, & gedl &)
2) 9% TEE S W I[P udE W B B, HB e B
(3) MAC wEH W ot IP 38 & SH@= &y, ﬁ@m%l
(4) DNS @ IP U39 &I doar &1,

Which of the following is a character oriented protocol ?
(1) BISYNC (2) SDLC

(3) HDLC (4) TCP

e & 8 B W S AftgRs wkwm ¥ 7

(1) BISYNC (2) SDLC

(3) HDLC (4) TCP

Type checking is normally done during,
(1) Lexical analysis

(2) Syntax analysis

(3) Syntax directed translation

(4) Code optimisation

TRY TR gERR: @ s ¥ o

(1) <ieea oaiwim

2) Ty Tt &

(3) friwm spiivs e &

@) @ onfermelym §

Information processing is the characteristic of system.,
(1) OLAP (Online Analatical Processing)

(2) OLTP (Online Transaction Processing)

(3) Both (1) and (2)

(4) None of above

TR TR Prafafee o & fraed faswar &

(1) OLAP (SMesH TifeHe TARET)

(2) OLTP (rMeRy Truae wrafi)

(3) faewe (1) qor (2) €

(@) S ¥ ¥ ®E T8

204/ COMPSCLA] 13 MY (Contd...
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41

42

43

44

45

Consider a network designed with MESH topology having 11 (Eleven) nodes,
the total number of connections in such a network s,

(1) 1 2) 22

(3) 2048 @ 55

T A ST B ead ¥ R 11 TeE ¥ 59 ead ¥ BT @) g

g 3,

(1 11 2 22
(3) 2048 4y 55

Which of the following functionality does not belong to Network layer ?
(1) Internetworking (2) Host to host delivery of packets
(3) Routing (4) Access control

F= & ¥ B o w ead Auw ¥ wafug a§ 3 2

(1) FeoiegtET (2) YA A de-gdre Refwad s
(3) wERw @) Y T

Dirty bit is used to show the,

(1) Page with corrupted data

(2) The wrong page in the memory

(3) Page that is modified after being loaded into cache memory
(4) Page that is less frequently accessed

& 4T T ol ¥ B omar ¥ )

() fapa st awr do

@ T A g =

() S A A s & o e 9 § g fear s B
4y =9 ARy fear o A

PMTLR is acronym for :

(1) Page Map Table Limit Register

(2) Page Memory Table with Limit Register

(3) Page Map Table List Register

(4) None of these

PMTLR % :

(1) ¥ A7 3w fafe e () U A 2w Be fafie W
() I I mw e Wier (@) swiwm @ R

Which of the following is a task region of spiral model ?

(1) Planning (2) Risk analysis

(3) Engineering (4) All of the above

71 ¥ ¥ w1 wEw Aiew (Spiral Model) %1 =’ fi (@ &) & 7
(1) i @ o= wfaityg

() el (4) Sula w+dr

204 /COMPSCI A] ' 14 mllummmlmnm {Contd...
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20
46  An ATM cell is bytes long.
(1) 53 2) 5
(3) 48 4) 60
ey dw bytes WHIT &aT &1
(1) 53 @ 5
(3) 48 4 60
47  The first phase in the ERP implementation life cycle is
(1) Package evaluation (2) Project Planning Phase
(3) Pre-evaluation Screening  (4) End-user training
ERP ®/i=@ o% &1 9aq @ &
(1) He FAeguH (2) uNTR T TR
G) W FATUIH (4) End-user ¢f4m
48  Which one is expensive and impractical without automated support ?
(1) Release testing (2) Regression testing
(3) Interface testing (4) Component testing
ﬁﬂfﬁf@aﬁﬁﬂﬂﬁ%aﬂaﬁ&gm%ﬁma@ﬁﬁwm
WA E ? |
(1) fri e 2) foism e
(3) s=whg e (4) wEE= RET
49  Which one of the following is not a Medium Access Control (MAC) protocol
in wireless networks ?
(1) Slotted ALOHA (2) CSMA/CD
(3) Polling (4) CSMA/CA
'ﬁwﬁ%ﬂﬁmﬁmwm(momamﬁvﬁa#ﬁ
Y P -
(1) Slotted ALOHA (2) CSMA/CD
(3) Polling 4) CSMA/CA
| S50  Which one is fault based testing techniques ?
(1)  Unit testing (2) Beta testing
(3) Stress testing _ (4) Mutation testing
1 4 & 3 @ vl I Mo w b e
(1) Ffe AT (2) g e
(3) B M @ =ym AR
MR (Contd...
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